Exponenten van 10

1x10° =
2x10° =
8,63+ 10° =
—2x10° =
6x 10* =
10° =

4% 10° =

1,12x10° =

Datum:

8,93 x 10" =
I x10=
—2x 10 =
1x10% =
10 =
4,35+ 10° =
2,99+ 10° =
-3 x10° =
8,3+ 10" =

-3 x10° =
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Score:
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Exponenten van 10

Naam:

9,76 + 10 = 0.976
10° = 1000

1 x 10° = 100000

2 x 10° = 2000

8,63+ 10° = 8.63E — 05
—2x10°=-2

6 x 10* = 60000

10° = 1000

4% 10° = 4000

1,12 x 10° = 1120

Datum: Score:

8,93 x 10" = 8.93
1x10=10

—2x 10 =-20

1 x 10* = 10000

10 = 100

4,35+ 10° = 0.00435
2,99+ 10° = 2.99E — 05
—3 x 10° = —3000

8,3+ 10* = 0.00083

-3 x10° = —3000
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